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Expand: muttiply out terms to remove brackets :
Coefficient: the. number in front of a ktter n an algebraic term, such as 5x° :
Quadratic: an expression in which the highest power s 2, such as x2 — 5x + 3 |
Cubic: an expression in which the hignest power is 3, such as 8 + x3 :
Estimate: read approximate valies from a graph |
Gradent: the steepness (or slope) of a Ine. O negative gradent means the ine slopes downhil |
Substitute: put numbers n place. of ketters to find the vale of an expression :
Recprocatagrophmthmequatmoftheformy=fwmekusammber :
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Roots: the solitions when an equation equak zero (often the x-intercepts of a graph)
Exponential a graph with an equation of the form y = k* where k is a number
Tangent: a straight. e touching a curve which can be used to estimate the gradient of the curve at that point
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